



OPTIMALITY THEOREMS FOR ROBUST LEAST SQUARES PROBLEMS

MOON HEE KIM¹, GWI SOO KIM², GUE MYUNG LEE², AND JEN-CHIH YAO^{3,*}

¹College of General Education, Tongmyong University, Busan 48520, Korea

²Department of Applied Mathematics, Pukyong National University, Busan 48513, Korea

³Department of Applied Mathematics, National Sun Yat-sen University, Kaohsiung 80424, Taiwan

ABSTRACT. We consider a robust least squares (RLS) problem, which is the robust counterpart of the least squares problem. The uncertainty set for the RLS problem is a compact and convex set. We give optimality theorems for the RLS problem by using the dual approach. We calculate the conjugate function of certain form of distance function. We get an optimality theorem for the RLS problem, which is expressed with the orthogonal spaces of the null spaces and the pseudoinverses of matrices in the uncertainty set.

Keywords. Optimality theorems, Robust least squares problems, Dual approach, Conjugate function, Eaves theorem.

© Optimization Eruditorum

1. INTRODUCTION AND PRELIMINARIES

Given a matrix $A \in \mathbb{R}^{m \times n}$ and a vector $b \in \mathbb{R}^m$, the celebrated least squares problem [1, 5] consists of minimizing the data error over the Euclidean space \mathbb{R}^n :

$$(LS) \quad \min_x \|Ax - b\|_2^2$$

Now we assume that the matrix A is not fixed but is in the uncertainty set \mathbb{U} in $\mathbb{R}^{m \times n}$. We will consider the following robust problem:

$$(RLS) \quad \min_x \max_{A \in \mathbb{U}} \|Ax - b\|_2^2,$$

which is the robust counterpart of the problem (LS) ([1]). When $\mathbb{U} = \{\tilde{A} + \Delta \mid \|\Delta\|_F \leq \rho\}$, where $\|\cdot\|_F$ stands for the Frobenius norm and \tilde{A} is the fixed minimal matrix, the robust counterpart (RLS) was studied in [1, 5]; its optimistic dual problem was given in [1], and its direct solution is presented at [5]. We notice that we can consider many kinds of uncertain sets for the problem (RLS) and so we will consider general convex and compact uncertain sets.

The aim of this brief paper is to give optimality theorems for the problem (RLS) with the general convex and compact uncertain sets and by using the dual approach. The dual approach means that we give the optimality theorems with the epigraph of the conjugate of the maximum function: $\max_{A \in \mathbb{U}} \|A(\cdot) - b\|_2^2$. This approach was given by Jeyakumar, Lee and Dinh [6].

From now on, we assume that the uncertainty set in \mathbb{U} in the problem (RLS) is convex and compact. So, the function $\max_{A \in \mathbb{U}} \|A(\cdot) - b\|_2^2$ is well-defined, convex and continuous.

The conjugate function of a function $f : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$ is the function $f^* : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$ defined by

$$f^*(x^*) := \sup_{x \in \mathbb{R}^n} \{\langle x^*, x \rangle - f(x)\} \quad (x^* \in \mathbb{R}^n)$$

*Corresponding author.

E-mail address: mooni@tu.ac.kr (M. H. Kim), gwisoo1103@pknu.ac.kr (G. S. Kim), gmlee@pknu.ac.kr (G. M. Lee), yaojc@math.nsysu.edu.tw (J. C. Yao)

2020 Mathematics Subject Classification: 90C25, 90C30, 90C46.

Accepted: November 18, 2025.

A function $g : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$ is said to be convex if for all $t \in [0, 1]$,

$$g((1-t)x + ty) \leq (1-t)g(x) + tg(y)$$

for all $x, y \in \mathbb{R}^n$.

Let $g : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$ be a proper convex function. We denote the domain and the epigraph of g by

$$\text{dom } g := \{x \in \mathbb{R}^n \mid g(x) < +\infty\} \text{ and } \text{epi } g := \{(x, r) \in \mathbb{R}^n \times \mathbb{R} \mid g(x) \leq r\}.$$

Proposition 1.1. [7] *Consider a family of proper lower semicontinuous convex function $\phi_i : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$, $i \in I$, where I is an arbitrary inclose set. Suppose that $\sup_{i \in I} \phi_i$ is not identically $+\infty$. Then*

$$\text{epi} (\sup_{i \in I} \phi_i)^* = \text{cl co} \bigcup_{i \in I} \text{epi } \phi_i^*$$

Proposition 1.2. [2] *Let $g_1 : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$ be a proper lower semicontinuous convex function and let $g_2 : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$ be a continuous convex function. Then*

$$\text{epi} (g_1 + g_2)^* = \text{epi } g_1^* + \text{epi } g_2^*.$$

Proposition 1.3. [2] *Let $g_1, g_2 : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$ be proper lower semicontinuous and convex functions. Then*

$$\text{epi} (g_1 + g_2)^* = \text{cl} (\text{epi } g_1^* + \text{epi } g_2^*).$$

Recall that, for $\epsilon \geq 0$, the ϵ -subdifferential of a function $f : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$ at $a \in \text{dom } f$ is defined as

$$\partial_\epsilon f(a) := \{v \in \mathbb{R}^n \mid f(x) - f(a) \geq \langle v, x - a \rangle - \epsilon \quad \forall x \in \text{dom } f\}$$

where $\epsilon = 0$, $\partial_\epsilon f(a)$ is denoted by $\partial f(a)$.

Proposition 1.4. [6] *Let $f : \mathbb{R}^n \rightarrow \mathbb{R} \cup \{+\infty\}$ be a lower semicontinuous convex function and let $a \in \text{dom } f$. Then*

$$\text{epi } f^* = \bigcup_{\epsilon \geq 0} \{(v, \epsilon + v(a) - f(a)) \mid v \in \partial_\epsilon f(a)\}.$$

2. OPTIMALITY THEOREMS

Now we will prove the closedness of an important set.

Proposition 2.1. $\text{co} \bigcup_{A \in \mathbb{U}} \text{epi} (\|A(\cdot) - b\|_2^2)^*$ is closed, where $\text{co}D$ is the convexhull of the set D .

Proof. Let $\Lambda = \bigcup_{A \in \mathbb{U}} \text{epi} (\|A(\cdot) - b\|_2^2)^*$. Let $(v_k^*, \alpha_k^*) \in \text{co } \Lambda \rightarrow (v^*, \alpha^*) \in \mathbb{R}^n \times \mathbb{R}$. Then there exists $A_i^k \in \mathbb{U}$, $\lambda_i^k \geq 0$, $i = 1, \dots, n+2$, $\sum_{i=1}^{n+2} \lambda_i^k = 1$, $(w_i^k, \alpha_i^k) \in \text{epi} (\|A_i^k(\cdot) - b\|_2^2)^*$ such that $(v_k^*, \alpha_k^*) = \sum_{i=1}^{n+2} \lambda_i^k (w_i^k, \alpha_i^k)$. Since \mathbb{U} is compact, we may assume that $A_i^k \rightarrow A_i^*$. Since $\lambda_i^k \in [0, 1]$, we may assume that $\lambda_i^k \rightarrow \lambda_i^*$. Since $(w_i^k, \alpha_i^k) \in \text{epi} (\|A_i^k(\cdot) - b\|_2^2)^*$, $(\|A_i^k(\cdot) - b\|_2^2)^*(w_i^k) \leq \alpha_i^k$, i.e.,

$$\langle w_i^k, x \rangle - \|A_i^k(x) - b\|_2^2 \leq \alpha_i^k \quad \forall x \in \mathbb{R}^n.$$

So, $\sum_{i=1}^{n+2} \lambda_i^k \langle w_i^k, x \rangle - \sum_{i=1}^{n+2} \lambda_i^k \|A_i^k(x) - b\|_2^2 \leq \sum_{i=1}^{n+2} \lambda_i^k \alpha_i^k \quad \forall x \in \mathbb{R}^n$.

So, $\langle v_k^*, x \rangle - \sum_{i=1}^{n+2} \lambda_i^k \|A_i^k(x) - b\|_2^2 \leq \alpha_k^* \quad \forall x \in \mathbb{R}^n$.

Hence $\langle v^*, x \rangle - \sum_{i=1}^{n+2} \lambda_i^* \|A_i^*(x) - b\|_2^2 \leq \alpha^* \quad \forall x \in \mathbb{R}^n$.

So, $\sup_x \{\langle v^*, x \rangle - \sum_{i=1}^{n+2} \lambda_i^* \|A_i^*(x) - b\|_2^2\} \leq \alpha^*$. Thus $(v^*, \alpha^*) \in \text{epi} (\sum_{i=1}^{n+2} \lambda_i^* \|A_i^*(x) - b\|_2^2)^*$.

Since $\lambda_i^* \geq 0$ and $\sum_{i=1}^{n+2} \lambda_i^* = 1$, we may assume that $\lambda_i^* > 0$, $i = 1, \dots, n+2$. Thus

$$\text{epi} \left(\sum_{i=1}^{n+2} \lambda_i^* \|A_i^*(x) - b\|_2^2 \right)^* = \sum_{i=1}^{n+2} \text{epi} (\lambda_i^* \|A_i^*(x) - b\|_2^2)^* = \sum_{i=1}^{n+2} \lambda_i^* \text{epi} (\|A_i^*(x) - b\|_2^2)^* \in \text{co } \Lambda.$$

Hence $(v^*, \alpha^*) \in \text{co } \Lambda$. Thus $\text{co } \Lambda$ is closed. \square

Now we will prove an optimality theorem for the problem (RLS) by using propositions in Section 1.

Theorem 2.2. *Let $\bar{x} \in \mathbb{R}^n$. The following are equivalent:*

(i) \bar{x} is an optimal solution of the problem (RLS);

(ii) there exist $\lambda_i (\sum_{i=1}^{n+1} \lambda_i = 1)$, $A_i \in \mathbb{U}$, $i = 1, \dots, n+1$ such that

$$0 = 2 \sum_{i=1}^{n+1} \lambda_i A_i^T A_i \bar{x} - 2 \sum_{i=1}^{n+1} \lambda_i (A_i^T b)$$

$$\text{and } \max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2 = \sum_{i=1}^{n+1} \lambda_i \|A_i \bar{x} - b\|_2^2.$$

Proof. Let \bar{x} be an optimal solution of (RLS). Let $f(x) = \max_{A \in \mathbb{U}} \|Ax - b\|_2^2$. Then $f(x) \geq f(\bar{x}) \forall x \in \mathbb{R}^n$, i.e., $-f(x) \leq -f(\bar{x}) \forall x \in \mathbb{R}^n$. Hence $f^*(0) \leq -f(\bar{x})$, i.e., $(0, -f(\bar{x})) \in \text{epi } f^*$.

By Proposition 1.1 and Proposition 2.1,

$$\text{epi } f^* = \text{cl co } \bigcup_{A \in \mathbb{U}} \text{epi } (\|A(\cdot) - b\|_2^2)^* = \text{co } \bigcup_{A \in \mathbb{U}} \text{epi } (\|A(\cdot) - b\|_2^2)^*.$$

Then $\text{epi } f^* = \text{co } \bigcup_{A \in \mathbb{U}} \text{epi } (\|A(\cdot) - b\|_2^2)^*$. By Proposition 1.4,

$$\text{epi } f^* = \text{co } \bigcup_{A \in \mathbb{U}} \bigcup_{\epsilon \geq 0} \{(v, v^T \bar{x} + \epsilon - \|A\bar{x} - b\|_2^2) \mid v \in \partial_\epsilon \|A(\cdot) - b\|_2^2\}.$$

So, $(0, -\max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2) \in \text{co } \bigcup_{A \in \mathbb{U}} \bigcup_{\epsilon \geq 0} \{(v, v^T \bar{x} + \epsilon - \|A\bar{x} - b\|_2^2) \mid v \in \partial_\epsilon \|A(\cdot) - b\|_2^2, x = \bar{x}\}$.

So, there exist $\lambda_i \geq 0$ ($\sum_{i=1}^{n+1} \lambda_i = 1$), $i = 1, \dots, n+1$, $A_i \in \mathbb{U}$, $\epsilon_i \geq 0$, $v_i \in \partial_{\epsilon_i} \|A_i(\cdot) - b\|_2^2, x = \bar{x}$ such that

$$0 = \sum_{i=1}^{n+1} \lambda_i v_i \text{ and}$$

$$-\max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2 = \sum_{i=1}^{n+1} \lambda_i (v_i^T \bar{x} + \epsilon_i - \|A_i \bar{x} - b\|_2^2). \quad (2.1)$$

We may assume that $\lambda_i > 0$, $i = 1, \dots, n+1$. From (2.1), $\sum_{i=1}^{n+1} \lambda_i \epsilon_i + \max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2 - \sum_{i=1}^{n+1} \lambda_i \|A_i \bar{x} - b\|_2^2 = 0$. Since $\sum_{i=1}^{n+1} \lambda_i \epsilon_i = 0$, and $\max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2 - \sum_{i=1}^{n+1} \lambda_i \|A_i \bar{x} - b\|_2^2 \geq 0$, we have

$$\sum_{i=1}^{n+1} \lambda_i \epsilon_i = 0 \text{ and } \max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2 = \sum_{i=1}^{n+1} \lambda_i \|A_i \bar{x} - b\|_2^2.$$

Thus since $\lambda_i > 0$, $\epsilon_i = 0$. Since $v_i \in \partial_{\epsilon_i} \|A_i(\cdot) - b\|_2^2 = \alpha \|A_i(\cdot) - b\|_2^2$, $v_i = 2A_i^T A_i \bar{x} - 2A_i^T b$ and thus

$$0 = \sum_{i=1}^{n+1} \lambda_i v_i = 2 \sum_{i=1}^{n+1} \lambda_i A_i^T A_i \bar{x} - 2 \sum_{i=1}^{n+1} \lambda_i A_i^T b.$$

So, (i) implies (ii). It is clear that (ii) \Rightarrow (i). \square

Remark 2.3. We can prove the result of Theorem 2.2 by using the subdifferential formula for max function (for example, Theorem 2.97 in [3]).

Now by using Eaves theorem for quadratic optimization problem in [4, 8], we will calculate the conjugate function of an important function.

Proposition 2.4.

$$\begin{aligned} & (\|A(\cdot) - b\|_2^2)^*(x^*) \\ &= \begin{cases} (A^T b + \frac{1}{2}x^*)^T (A^T A)^+ (A^T b + \frac{1}{2}x^*) - b^T b & \text{if } x^* \in \text{Ker } A^\perp \\ +\infty & \text{if } x^* \notin \text{Ker } A^\perp, \end{cases} \end{aligned}$$

where A is a given $m \times n$ matrix, b is a given vector in \mathbb{R}^m , $(A^T A)^+$ is the pseudoinverse of the matrix $A^T A$ and $\text{Ker } A^\perp$ is the orthogonal space of the null space $\text{Ker } A$ of the matrix A .

Proof. Let $f(x, A) = \|Ax - b\|_2^2$. Then

$$\begin{aligned} f(\cdot, A)^*(x^*) &= \sup\{x^{*T}x - f(x, A) \mid x \in \mathbb{R}^n\} \\ &= \sup\{x^{*T}x - x^T A^T Ax + 2b^T Ax - b^T b \mid x \in \mathbb{R}^n\} \\ &= -\inf\{x^T A^T Ax + (-2A^T b - x^*)^T x \mid x \in \mathbb{R}^n\} - b^T b. \end{aligned}$$

Let $h(x) = x^T A^T Ax + (-2A^T b - x^*)^T x$. Then $h(x)$ has minimum

$$\begin{aligned} & \iff \text{(by Eaves Theorem in [4, 8]) If } v \in \mathbb{R}^n \text{ and } x \in \mathbb{R}^n \text{ are such that } 2v^T A^T Av = 0, \\ & \quad \text{then } (A^T Ax - 2A^T b - x^*)^T v \geq 0 \\ & \iff \text{if } Av = 0 \text{ and } x \in \mathbb{R}^n, \text{ then } (A^T Ax - 2A^T b - x^*)^T v \geq 0 \\ & \iff \text{if } Av = 0 \text{ and } x \in \mathbb{R}^n, \text{ then } x^{*T} v \leq 0 \\ & \iff \text{if } Av = 0, x^{*T} v = 0 \\ & \iff x^* \in \text{Ker } A^\perp, \end{aligned}$$

where $\text{Ker } A = \{v \mid Av = 0\}$ and $\text{Ker } A^\perp = \{x^* \in \mathbb{R}^n \mid x^{*T} v = 0 \ \forall v \in \text{Ker } A\}$. Thus if $x^* \in \text{Ker } A$,

$$\begin{aligned} & \sup\{x^{*T}x - \|Ax - b\|_2^2 \mid x \in \mathbb{R}^n\} \\ &= -\inf\{x^T A^T Ax - 2b^T Ax - x^{*T}x \mid x \in \mathbb{R}^n\} - b^T b \\ &= -(A^T b + \frac{1}{2}x^*)^T (A^T A)^+ A^T A (A^T A)^+ (A^T b + \frac{1}{2}x^*) \\ & \quad + 2[A^T b + \frac{1}{2}x^*]^T (A^T A)^+ (A^T b + \frac{1}{2}x^*) - b^T b \\ &= (A^T b + \frac{1}{2}x^*)^T [2(A^T A)^+ - (A^T A)^+ A^T A (A^T A)^+] (A^T b + \frac{1}{2}x^*) - b^T b \\ &= (A^T b + \frac{1}{2}x^*)^T (A^T A)^+ (A^T b + \frac{1}{2}x^*) - b^T b, \end{aligned}$$

where $(A^T A)^+$ is the pseudoinverse of the matrix $A^T A$. Thus

$$\begin{aligned} & \sup\{x^{*T}x - \|Ax - b\|_2^2 \mid x \in \mathbb{R}^n\} \\ &= \begin{cases} (A^T b + \frac{1}{2}x^*)^T (A^T A)^+ (A^T b + \frac{1}{2}x^*) - b^T b & \text{if } x^* \in \text{Ker } A^\perp \\ +\infty & \text{if } x^* \notin \text{Ker } A^\perp \end{cases} \end{aligned}$$

□

Now we give an optimality theorem for the problem (RLS) by using Proposition 2.2.

Theorem 2.5. Let $\bar{x} \in \mathbb{R}^n$. The following are equivalent:

(i) \bar{x} is an optimal solution of the problem (RLS);

(ii) there exist $\lambda_i \geq 0$, $(\sum_{i=1}^{n+1} \lambda_i = 1)$, $A_i \in \mathbb{U}$, $x^* \in \text{Ker} A_i^\perp$, $r_i \geq 0$, $i = 1, \dots, n+1$ such that

$$0 = \sum_{i=1}^{n+1} \lambda_i x_i^* \quad \text{and}$$

$$-\max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2 = \sum_{i=1}^{n+1} \lambda_i (A_i^T b + \frac{1}{2} x_i^*)^T (A_i^T A_i)^+ (A_i^T b + \frac{1}{2} x_i^*) - b^T b + \sum_{i=1}^{n+1} \lambda_i r_i,$$

where $(A_i^T A_i)^+$ is the pseudoinverse of $A_i^T A_i$.

Proof. (i) \Rightarrow (ii): Since \bar{x} is an optimal solution of the problem (RLS), $(0, -f(\bar{x})) \in \text{epi } f^*$.

By Proposition 2.4, we have

$$\begin{aligned} & \sup \{x^{*T} x - \|Ax - b\|_2^2 \mid x \in \mathbb{R}^n\} \\ &= \begin{cases} (A^T b + \frac{1}{2} x^*)^T (A^T A)^+ (A^T b + \frac{1}{2} x^*) - b^T b & \text{if } x^* \in \text{Ker } A^\perp \\ +\infty & \text{if } x^* \notin \text{Ker } A^\perp \end{cases} \end{aligned}$$

Thus

$$\text{epi} (\|A(\cdot) - b\|_2^2)^* = \bigcup_{\substack{x^* \in \text{Ker } A^\perp \\ r \in \mathbb{R}_+}} \left\{ \left(x^*, (A^T b + \frac{1}{2} x^*)^T (A^T A)^+ (A^T b + \frac{1}{2} x^*) - b^T b + r \right) \right\}.$$

By Proposition 1.1,

$$\text{epi} (\max_{A \in \mathbb{U}} \|A(\cdot) - b\|_2^2)^* = \text{cl co} \bigcup_{A \in \mathbb{U}} \text{epi} (\|A(\cdot) - b\|_2^2)^*.$$

Moreover, by Proposition 2.1, $\text{co} \bigcup_{A \in \mathbb{U}} \text{epi} (\|A(\cdot) - b\|_2^2)^*$ is closed. Thus

$$\begin{aligned} & \text{epi} (\max_{A \in \mathbb{U}} \|A(\cdot) - b\|_2^2)^* \\ &= \text{co} \bigcup_{A \in \mathbb{U}} \left[\bigcup_{\substack{x^* \in \text{Ker } A^\perp \\ r \in \mathbb{R}_+}} \left\{ \left(x^*, (A^T b + \frac{1}{2} x^*)^T (A^T A)^+ (A^T b + \frac{1}{2} x^*) \right) \right\} - b^T b + r \right] \end{aligned}$$

Since $(0, -f(\bar{x})) \in \text{epi } f^*$, we have

$$\begin{aligned} & (0, -\max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2) \\ & \in \text{epi} (\max_{A \in \mathbb{U}} \|A(\cdot) - b\|_2^2)^* \\ &= \text{co} \bigcup_{\substack{A \in \mathbb{U} \\ x^* \in \text{Ker } A^\perp \\ r \in \mathbb{R}_+}} \left\{ \left(x^*, (A^T b + \frac{1}{2} x^*)^T (A^T A)^+ (A^T b + \frac{1}{2} x^*) \right) - b^T b + r \right\}. \end{aligned}$$

Hence there exist $\lambda_i \geq 0$ $(\sum_{i=1}^{n+1} \lambda_i = 1)$, $A_i \in \mathbb{U}$, $x_i^* \in \text{Ker } A_i^\perp$, $r_i \geq 0$, $i = 1, \dots, n+1$,

$$(0, -\max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2) = \sum_{i=1}^{n+1} \lambda_i \left(x_i^*, (A_i^T b + \frac{1}{2} x_i^*)^T (A_i^T A_i)^+ (A_i^T b + \frac{1}{2} x_i^*) - b^T b + r_i \right).$$

So, $0 = \sum_{i=1}^{n+1} \lambda_i x_i^*$,

$$-\max_{A \in \mathbb{U}} \|A\bar{x} - b\|_2^2 = \sum_{i=1}^{n+1} \lambda_i (A_i^T b + \frac{1}{2} x_i^*)^T (A_i^T A_i)^+ (A_i^T b + \frac{1}{2} x_i^*) - b^T b + \sum_{i=1}^{n+1} \lambda_i r_i.$$

Thus (i) \Rightarrow (ii). It is clear that that (ii) \Rightarrow (i). □

3. CONCLUSION

In this paper, we studied optimality theorems for the robust least square problem (RLS), which was the robust counter part of the least squares problem. Using the dual approach, we got optimality theorems for the problem (RLS). The problem (RLS) can be regarded as the one to find the unconstrained minimizer of an maximum function. So, it will be interesting to investigate optimality theorems for the robust least square problem with a nonlinear cone constraint.

STATEMENTS AND DECLARATIONS

The authors declare that they have no conflict of interest, and the manuscript has no associated data.

ACKNOWLEDGMENTS

The first and third authors were supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) (NRF-2022R1A2C1003309). The second author was supported by the National Research Foundation of Korea(NRF) grant funded by Korea government (MOE) (RS-2023-00240475).

REFERENCES

- [1] A. Beck and A. Ben-Tal. Duality in robust optimizaiton: primal worst equals dual best. *Operations Research Letters*, 37:1-6, 2009.
- [2] R. S. Burachik and V. Jeyakumar. Dual condition for the convex subdifferential sum formula with applications. *Journal of Convex Analysis*, 12:279-290, 2005
- [3] A. Dhara and J. Dutta. *Optimality Conditions in Convex Optimization: A Finite-dimensional View*, CRC Press, Florida, United States, 2012.
- [4] B. C. Eaves. On quadratic programming. *Management Science*, 17:698-711, 1971.
- [5] L. El Ghaoui and H. Lobret. Robust solution to least-squares problems with uncertain data. *SIAM Journal on Matrix Analysis and Applications*, 18(4):1035-1064, 1997.
- [6] V. Jeyakumar, G. M. Lee, and N. Dinh. New sequential Lgrange multiplier conditions characterizing optimality without constraint qualification for convex programs. *SIAM Journal on Optimization*, 14:534-547, 2003.
- [7] G. Li, V. Jeyakumar, and G. M. Lee. Robust conjugate duality for convex optimization under uncertainty with applications to data classification. *Nonlinear Analysis*, 74:2327-2341, 2011.
- [8] G. M. Lee, N. N. Tam, and N. D. Yen. *Quadratic Programming and Affine Variational Inequalities: A Qualitative Study*. Springer, New York, 2005.